


ROLLING ROOF SYSTEM

5 Yil Garanti
Mette Rolling Roof Sistemleri 5 yil
siire ile garanti altindadir.

iklim Kosullarina Dayanlikh

Mette Rolling Roof Sistemleri her
turld hava kosullarina uyumlu ve
yiiksek mukavemetli aliminyum
yapisi ve farklilasan bircok 6zelligi-
yle size farkli deneyimler sunuyor.

Paslanmaz

Mette Rolling Roof Sistemleri icin
Ozel olarak Uretilen Inox sac, vida
ve piller paslanmaz 6zelliktedir.

5 Year Warranty
Mette Rolling Roof Sysytems are
under guarantee for 5 years.

Weather-Resistant

Mette Rolling Roof Systems offers
you different experiences with its
high strength aluminium structure
that is compatible with all weather
conditions and its many
differentiating features.

Stainless
Inox sheet, screws and pins
produces specially fot Mette
Rolling Roof Sysytems are
stainless.

Rolling Roof Max. Olgiiler
750 x 700cm

Rolling Roof Max. Dimensions
750 x 700cm

https://www.metestor.com.tr
Mail: info@metestor.com.tr




https://www.metestor.com.tr
Mail: info@metestor.com.tr




@ Oluk Profili
Gutter Profile

Product Code: 2337

. | Weight kg/m: 4,560
(85x 205 x 2 mm)

@ Oluk On/Arka Kapama Profili
Gutter Front/Back Closure
Profile

164.5

Product Code: 2338

Weight kg/m: 1,730
(164,5 x 28,5 x 1,6 mm)

@ Ray Profili
Rail Profile

[ _-\ 3
q r‘ Product Code: 2339

: :l [ Weight kg/m: 7,827
(160 x 130 x 2,5 mm)

https://www.metestor.com.tr

Mail: info@metestor.com.tr




@ Lamel Profili
Lamella Profile

\ _ ‘[ ] ﬂ { Product Code: 2340

Weight kg/m: 3,906
(40x 286 x 2 mm)

[ ) Dikme Profili
Strut Profile

120

Product Code: 2341

Weight kg/m: 3,050
(120 x 110 x 2 mm)

@ Dikme Kapak Profili
Strut Cover Profile

Product Code: 2342

120

] Weight kg/m: 1,055
(120 x 45 x 1,8 mm)

Q Motor Borusu
Motor Pipe

Product Code: 5312

Weight kg/m: 1,100

(®75,5 x 1,5 mm)
75,5

AN
AN

https://www.metestor.com.tr

Mail: info@metestor.com.tr




ROLLING ROOF MONTAJ / ROLLING ROOF MONTAGE

https://www.metestor.com.tr
Mail: info@metestor.com.tr




ROLLING ROOF MONTAJ / ROLLING ROOF MONTAGE

https://www.metestor.com.tr
Mail: info@metestor.com.tr




ROLLING ROOF MONTAJ / ROLLING ROOF MONTAGE

.\ @ https://www.metestor.com.tr
=)

— Mail: info@metestor.com.tr



ROLLING ROOF MONTAJ / ROLLING ROOF MONTAGE

NE— Hx\\_ https://www.metestor.com.tr
. Mail: info@metestor.com.tr



https://www.metestor.com.tr
Mail: info@metestor.com.tr




https://www.metestor.com.tr
Mail: info@metestor.com.tr



https://www.metestor.com.tr
Mail: info@metestor.com.tr




ROLLING ROOF AKSESUARLARI / ROLLING ROOF ACCESORIES

! o
. --I«--‘-‘-ol

Ray Takimi
EE Rail Set
Product Code: MRR-01

Koli i¢ Takim Adetleri / Pieces In the Box

MRR-01 Uriin Ad1 / Product Name Koli Adeti / Set
MRR-01-1 Arka Plastik Rulman Yatagi Sag/Sol / Rear Plastic Bearing Right/Left 1 Takim / Set
MRR-01-2 T10 Triger Disli / Timing Gear 1 Adet / Piece
MRR-01-3 Triger Kayis Fren / Timing Belt Brake 1 Adet / Piece
MRR-01-4 6917 Celik Rulman / 6917 Steel Bearing 2 Adet / Piece
MRR-01-5 On Rulman Yataklama Plastigi / Front Roller Bearing Plastic 1 Takim / Set
MRR-01-6 On Gergi Plastic Dis Kasa Sag/Sol / Front Tension Plastic Outer Case Right/Left 1 Takim / Set
MRR-01-7 6007 Celik Rulman / 6007 Steel Bearing 2 Adet / Piece
PRG-79 On Gergi Kare Otomat (16x16) / Front Tensioner Square Automation (16x16) 1 Adet / Piece
MRR-01-9 On Gergi Tekeri ve Triger Baglanti Plastigi / Front Tensioner Wheel and Timing Link Plastic 1 Takim / Set
MWG-08 75'lik Su Gideri / 75 Water Drain 1 Adet / Piece
MRR-01-11 Ray Arka Duvar Baglanti Aparati / Rail Rear Wail Connection Apparatus 1 Adet / Piece
MRR-01-12 Ray Arka (U) Baglanti Aparati / Rail Rear Wall Connection Apparatus 1 Adet / Piece
MRR-01-13 Arka 4. Lamel Baglanti Aparati / Rear 4th Lamella Fixing Apparatus 2 Adet / Piece
MRR-01-14 On Ray Oluk Baglanti Aparati / Front Rail Groove Connection Apparatus 1 Adet / Piece
MRR-01-15A Direk Ust Baglanti Aparati / Mast Top Connetion Apparatus 1 Adet / Piece
MRR-01-16 Ray Arka Baglanti Lamasi / Rail Rear Connection Plate 1 Adet / Piece
MRR-01-17 Ray Oluk Baglanti Lamasi(M8 4 Delikli 25x100) / Rail Groove Connection Plate (M8 4 Holes 25x100) 2 Adet / Piece
MRR-01-18 Ray On ve Ayak Baglanti Lamasi (M8 2 Delikli 25x109) / Rail Front Connection Plate (M8 2 Holes 25x109) 3 Adet / Piece
MRR-01-19 Ray Lama Somunu (M8 1 Delikli 25x25) / Rail Plate Nut (M8 1 Hole 25x25) 2 Adet / Piece
MRR-01-20 M12x160 AKV Civata / M12x160 AKV Bolt 2 Adet / Piece
MRR-01-21 M8x16 Yuvarlak Basli Kare Vida / M8x12 Round Head Inbus Bolt 2 Adet / Piece
MRR-01-22 M8x70 Inbus Civata / M8x70 Inbus Bolt 2 Adet / Piece
MRR-01-23 M8x12 Bombe Bas Inbus Civata / M8x12 Round Head Inbus Bolt 20 Adet / Piece
MRR-01-24 M6x90 Inbus Civata / M6x90 Inbus Bolt 2 Adet / Piece
MRR-01-25 M6x70 Inbus Civata / M6x70 Inbus Bolt 2 Adet / Piece
MRR-01-26 M6x50 Inbus Civata / M6x50 Inbus Bolt 1 Adet / Piece
MRR-01-27 M12 Fiberli Somun / M12 Fiber Nut 2 Adet / Piece
MRR-21 M8 Fiberli Somun / M8 Fiber Nut 6 Adet / Piece
MRR-01-29 M6 Fiberli Somun / M6 Fiber Nut 5 Adet / Piece
MRR-01-30 6,3x32 YHB Sac Vidasi / 6,3x32 YHB Sheet Screw 8 Adet / Piece

https://www.metestor.com.tr 1 2
Mail: info@metestor.com.tr




= @ Lamel Sol Kapak Plastigi @ Lamel Sag Kapak Plastigi

Lamel Left Cover Plastic Lamel Right Cover Plastic
s s P

Box Piece: 50 Set Box Piece: 50 Set

Product Code: MRR-02 Product Code: MRR-03

Arka Lamel Sabitleme Aparati
Rear Lamel Fixing Apparatus

Product Code: MRR-04

anf Suaad S

@ On Lamel Mafsali Sag/Sol @ Orta Lamel Mafsal Sag/Sol @ Arka Lamel Mafsali Sag/Sol
Front Lamella Joint Right/Left Middle Lamella Joint Right/Left Rear Lamella Joint Right/Left
Product Code: MRR-06 Product Code: MRR-07 Product Code: MRR-08

Box Piece: 100 Piece

Kicguk Teker Orta Ray Teker Mafsali
Small Wheel Middle Rail Wheel Joint

Product Code: MRR-10
Product Code: MRR-09

Box Piece: 125 Piece

https://www.metestor.com.tr
Mail: info@metestor.com.tr




@ Oluk Sag/Sol Kapak Aparati

Gutter Right/Left Cover Plate

Product Code: MRR-11

Lamel Epdm Panel Contasi

Epdm Panel Gasket
Product Code: MRR-15
1 Roll: 161 m /15 kg

Lamel Plastik Baglanti Vidasi
(GENERINEYS)

Cover Plate and Plastic
Connection Screw (Stainless)

4,8x32 Havsa Bas Vida
4,8x32 Countersunk Head
Screw

Product Code: MRR-18
Box Piece: 600

Sadece Roll-19 ve Roll-20'de
kullanihyor

It is used only on
Roll-19 and Roll-20
M8 Fiber Somun
M8 Fiber Nut

Product Code: MRR-21
Box Piece: 1000

@ Motor Sabitleme Aparat
Motor Fixing Apparatus

Product Code: Prg-44

—

—
—
=
p—
—
—
Al

Ray ve Oluk Epdm Contasi
Epdm Rail and Gutter Gasket

Product Code: Prg-16
1 Roll: 57 m /15 kg

3
i
.
24

3

Lamel Ust Plastik Birlestir-
me Vidasi (Paslanmaz)
Screw Connecting the
Plastic on the Cover Plate
SEIES)

M8x40 Inbus Vida
M8x40 Inbus Screw

Product Code: MRR-19

Dimer
Trafo
Kumanda

Dimer
Transformer
Controller

https://www.metestor.com.tr
Mail: info@metestor.com.tr

@ T10/16 Triger Kayis
T10/16 Timing Belt

Product Code: Prg-105
1 Roll: 100 m

Oluk Yan Kapak Baglanti
Vidasi (Paslanmaz)
Gutter Side Cover
Connection Bolt
(Stainless)

4,2x19 Top Bas Vida
4,2x16 Ball Head Screw
Product Code: MRR-17
Box Piece: 2500

Lamel ile Tekeri Birlestir-
me Vidasi (Paslanmaz)
Screw Connecting Plate
and Wheel (Stainless)

M8x65 Inbus Vida
M8x40 Inbus Screw

Product Code: MRR-20
Box Piece: 200

Serit Led
Led Tape




https://www.metestor.com.tr
Mail: info@metestor.com.tr



https://www.metestor.com.tr
Mail: info@metestor.com.tr




https://www.metestor.com.tr
Mail: info@metestor.com.tr




https://www.metestor.com.tr
Mail: info@metestor.com.tr




ROLLING ROOF SYSTEM

Merkez/Head Office
Hurriyet Mah. Dr. Cemil Bengii Cad.
No: 5/A Kagithane/Istanbul-TR

Fabrika/Factory: Akcaburgaz Mah. Alkop Cad.
No: 46/1 Esenyurt/Istanbul - TR

Telefon/Phone
+90 212 248 24 02
Fax/Fax

+90 212 248 24 03

wwww.metestor.com.tr
info@metestor.com.tr




